
Math 252: Quiz 1 1 September, 2022

Name: / 24

30 minutes maximum. 24 points possible; each part is worth 2 points. No aids (book, notes,
calculator, phone, etc.) are permitted. Show all work and use proper notation for full credit.
Answers should be in reasonably-simplified form.

1. [12 points] Compute the derivatives of the following functions.

a. f (x) = e2x1/2 +2ex +
p

9

b. f (x) = ln
�
cos(x3)�4x7�

c. h(x) = sin(kx2 �5) where k is a constant

1
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G) = e.2.1-2×-4 + Ze
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↓u¥ Fix) = %¥-y×→
. fsincx33×2-28×6)

• =•÷÷:÷¥i
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(x) = cos (4×2-5) (2k
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=2k✗cos(K✗2
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d. f (x) = sec(xex)

e. y =
cos(2x)
x5 +p

f. Find
dy
dx

if ey cos(x) = xy+1. You must solve for
dy
dx

.

2

f Fx ) = Sec ( ✗e
*) tan(✗ex) ( 1.e✗+ × .e)

= e×(Hx)sec(xe✗)tanG

i*É a¥=É¥¥
or

←p%dⁿtᵗ product here

e. & d¥✗ cosG) + EYESin ex)) = /•y +✗
• ᵈd¥

¥4e •cosG) -x) = y t e%inG)

8÷=É÷
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2. [12 points] Compute the following antiderivatives (indefinite integrals) and definite integrals. Re-

member that antiderivatives need a “+C”.

a.
Z

(1+ x)2

2x
dx

b.
Z
(x�1)e((x�1)2) dx

c.
Z p

0
5ex +3sin(x) dx

3

u=H×
" does

not

work
here

= S 1t2z'd× = ft¥+1 + 1- ✗dx

=Éln1✗lt×t¥?⃝

U= ☒-D2
= Se

"¥
26 - Dd]

= -1 @
"
+ c F- =G-1) dx

=±ek✗→?⃝
2=5 ex- 3 cos

= (554-31--17) - (50-3.41)
= 5 +3-5-13=5e
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d.
Z

x
p

x+5 dx

e.
Z cos(lnx)

x
dx

f.
Z sec2(x)

tan2(x)
dx

4

/ ᵗ%mtbetterbeqyfibwte.ga.no#nis::Enu=x+shy
☒
✗= a-5)= Suk - 5 u%dn [du=d✗

= 25-45/2 - 5 . }-u% +c
=3--1×+53%-1>0-1×+53%-6

↳
= § C scujdu

U=ln✗[du=±d✗]
= sin (a) tc =sintln

a- tan ]= S ¥ = Jcidu [du=seE×d✗
= - u

- /
+c =-_ - (tan✗J

'
te

wid:*"
=-c◦t #d◦n torn it is

because ambigu


